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6/30/15 1:10 PM MATLAB Command Window 1 of 1

>> A=[1.2969 0.8648; 0.2161 0.1441];
>> bl=[1.2969;0.2161);
>> xa = A \ bl

xXa =
1
0
>> b2 = round(1073*b1l)/10"3;
>> xb = A \ b2
xb =
1.0e+04 *
1.0090
-1.5130
>> B = round(10~3*A)/10"3;
>> x¢ = B \ bl
XCc =
2.4014
~2,1014

>> ¢ = cond(A)

c =
«§F s ;
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7/1/15 1:18 PM _/Users/dmh/Dropbox/18.085/PSets/P.../ivp.m

1 of 1

function xl=ivp(dt)

% dt = timestep
steps=1/dt; % number of total timesteps
x=1; % initial condition
for i=1l:steps;
x=xX-dt*x"2;
end
x1l=x;




7/1/15 1:20 PM

MATLAB Command Window

1 of 1

>> xlc=ivp(0.1)
xlc =

0.4817
>> elc=0.5-xlc
elc =

0.0183
>> xle=ivp(0.01)
xle =

0.4983
>> ele=0.5-xle
ele =

0.0017
>> elc/ele
ans =

10.4987






